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Dialogue 1

Answer questions 1 to 3

Question 1
JAS6AE had to stop because ...

it had engine trouble.

another aircraft had a trouble.
the runway was closed.
construction work was started.
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Question 2

What did the controller instruct JAS6AE after it stopped?

Make 180-degree turn on the runway.
Make 360-degree turn on the runway.
Taxi to S-7.

Taxi to S-8 and hold.
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Question 3
JASGAE would have been airborne ...

when the SAR mission had been completed.
when it reported ready.

after inbound traffic landed.

after outbound traffic on S-8 took off.
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Dialogue 2

Answer questions 4 to 6

Question 4

Controller provided the information of ...

1. birds migrating to the northeast on the east of the airport.

2. Dbirds migrating to the east on the northeast of the airport.

3. another aircraft heading to the northeast on the east of the airport.

4. another aircraft heading to the east on the northeast of the airport.
Question 5

JAS86AE rejected its takeoff due to ...

1.  hydraulic failure.

2. bird activities.

3. landing gear trouble.

4. symmetric flaps.
Question 6

Besides the spot assignment, the controller would have ...
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dispatched an operation’s car.
coordinated for a towing car.
mobilized a fire brigade.
requested a patrol car.



Dialogue 3

Answer questions 7 to 9

Question 7
JAS6AE, encountered wind shear ...

during its takeoff roll.

up to 300 ft.

between 300 ft and 500 ft.
between 500 ft and 700 ft.

FEPE

Question 8
The engine was shut down ...

due to engine fire.

due to severe engine vibration.
inadvertently.
as a precaution.
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Question 9
JASGAE would have executed ...

. ILS approach.

. VOR approach.

. localizer approach.
visual approach.
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Dialogue 4

Answer questions 10 to 12

Question 10

What was the nature of trouble JAS6AE encountered?

1. Damage of the engine.

2. Severe icing on the airframe.
3. Smoke in the cockpit.

4. Bird strike.

Question 11

The reported visibility at Oita airport was ...

1. 500 m.
2. 600 m.
3. 700 m.
4. 800 m.
Question 12

What was the pilot’s intention?

To jettison onboard fuel.

To proceed to the destination airport.
To proceed to the alternate airport.
To return to the originated airport.
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Dialogue 5

Answer questions 13 to 15

Question 13

ATC informed about ...

moderate icing at 8 miles east of YOKAT.
moderate turbulence at 8 miles east of YOKAT.
moderate icing at 8 miles west of YOKAT.
moderate turbulence at 8 miles west of YOKAT.
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Question 14

The target of vectoring was ...

YOKAT.
BRAID.
KUGA.
KOHZA.
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Question 15

What was the last instruction by ATC?

Fly heading 145, climb to FL.150, expedite clime until 10,000.
Fly heading 145, climb to FL150, expedite climb until 11,000.
Fly heading 145, climb to FL160, expedite climb until 10,000.
Fly heading 145, climb to FL.160, expedite climb until 11,000.
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Dialogue 6

Answer questions 16 to 18

Question 16

The controller asked the pilot, if he ...

1. requested a different course.

2. was experiencing rough air.

3. was declaring an emergency.

4. needed to change his altitude.
Question 17

The weather phenomenon was transmitted by ...

1. another aircraft.

2. ameteorological officer.

3. adispatcher.

4. an ATC officer.
Question 18

JA18BD requested a lower altitude because ...

1. its engines were rather powerless.

2. it was difficult to breathe at the higher altitude.
3. it did not have any RNAV equipment.

4. of an unknown reason.
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Dialogue 7

Answer questions 19 to 21

Question 19
What was the nature of the emergency?

An engine did not run smoothly.

Both engines did not run'smoothly.

An engine instrument was malfunctioning.
Landing gear was not extended.
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Question 20

The controller first instructed the pilot to ...

land immediately.

continue the flight planned route.

fly on a specific magnetic heading.
execute an instrument approach procedure.
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Question 21

What was not included in the controller’s transmissions?

An altitude assignment.
A target of vectoring.
Active runway.

An assignment of STAR.

palioatl i
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Dialogue 8

Answer questions 22 to 24

Question 22
The pilot requested ...

medical assistance.

fire engines.

runway inspection.

special safe guard and procedures.
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Question 23
The passenger seemed to ...

be bleeding.

have fever.

. have headache.

be in trouble of breathing.

B

Question 24

What was the heading the controller initially assigned?

1. 130.
2. 210.
3. 230.
4. 310.

FEE9/15



Dialogue 9

Answer questions 25 to 27

Question 25
The hazard for JASS8KS was ...

turbulent air.
traffic congestion.
clouds ahead.
military exercise.
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Question 26

The pilot’s request was approved by ...

descending.
climbing.

turning to the right.
turning to the left.

.

Question 27

The pilot would have returned to the previous altitude in ...

1. 20 miles.
2. 25 miles.
3. 30 miles.
4. 35 miles.
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Dialogue 10

Answer questions 28 to 30

Question 28

When JA18BD encountered the trouble?

1. During its takeoff roll.
2. Just after airborne.
3. Upon reaching the cruising altitude.
4. It was not mentioned.
Question 29

The controller instructed the pilot to ...

declare an emergency.

proceed to the right downwind.
proceed to the left downwind.
report fuel amount.

el

Question 30
The pilot finally decided to ...

hold on the downwind.

make evacuation after landing.
shut down the left engine.
declare an emergency.

FEREPE
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Dialogue 11

Answer questions 31 to 33

Question 31
The problem seemed to be ...

engine fire.

smoke in the cockpit.
smoke in the baggage area.
fire in the cockpit.
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Question 32
The pilot did not transmit ...

1. his latest position.

2. the nature of trouble.

3. declaration of an emergency.

4. arequest for the landing clearance.

Question 33
The controller notified the pilot ...

the airport was in IMC.

-the airport was in VMC.

no other aircraft were reported in the vicinity.
a departure aircraft was holding.
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Dialogue 12

Answer questions 34 to 36

Question 34
The nature of the problem was ...

higher temperature of the battery.
bad weather.

pilot incapacitation.

propeller overspeed.
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Question 35
The pilot requested ...

an emergency landing.

an instrument approach procedure.
to descend to 6,000 ft.

visual approach.
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Question 36

The requested approach was not authorized due to ...

1. traffic situation.
2. terrain.

3. pilot’s skills.

4. limited visibility.
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Dialogue 13

Answer questions 37 to 39

Question 37
JA18BD abandoned landing because of ...

unstable wind direction.

a problem with the ILS receiver.
a trouble of its wheels.

rough air condition.
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Question 38
The pilot decided to ...

make another approach.
work out the problem.

divert to the alternate airport.
declare an emergency.
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Question 39

What was the altitude reported by the pilot during the missed approach?

1. 1,000 ft.
2. 2,000 ft.
3. 3,000 ft.
4. 4,000 ft.
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Dialogue 14

Answer questions 40 to 42

Question 40
JA18BD was first instructed to ...

continue its approach.
report its position later.
go around.

hold its position.
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Question 41

JA18BD reduced its speed probably ...

1. another aircraft was on the runway.
2. the controller instructed.
3. the other pilot suggested.
4. air was turbulent.
Question 42

The controller instructed N737BJ to hold probably ...

the other aircraft was on the runway.
the other aircraft was going around.
the release time was imposed.

due to earthquake and tsunami.
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